

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881

## INVOICE

Invoice Number: 131250

Invoice Date: May 18, 2012

Page:

1



| Customer ID  | Well Name/#_or Customer P.O. | Payment Terms         |  |
|--------------|------------------------------|-----------------------|--|
| Shak         | Zerr Trust #1-24             | Net 30 Days           |  |
| Job Location | - Camp Location              | Service Date Due Date |  |
| KS1-01       | Oakley                       | May 18, 2012 6/17/12  |  |

| Quantity | Item        | Description               | - Unit Price | Amount   |
|----------|-------------|---------------------------|--------------|----------|
| 175.00   |             | Class A Common            | 16.25        | 2,843.75 |
| 3.00     | MAT         | Gel                       | 21.25        | 63.75    |
| 、 6.00   | MAT         | Chloride                  | 58.20        | 349.20   |
| 189.24   | SER         | Cubic Feet                | 2.10         | 397.40   |
| 207.36   | SER         | Ton Miles                 | 2.35         | 487.30   |
| 1.00     | SER         | Surface                   | 1,125.00     | 1,125.00 |
| 24.00    | SER         | Heavy Vehicle Mileage     | 7.00         | 168.00   |
| 1.00     | SER         | Manifold Swedge Rental    | 325.00       | 325.00   |
| 24.00    | SER         | Light Vehicle Mileage     | 4.00         | 96.00    |
| 1.00     | CEMENTER    | LaRene Wentz              |              |          |
| 1.00     | EQUIP OPER  | Dane Retzloff             |              | מכונס '  |
| 1.00     | OPER ASSIST | Adam Holcomb              |              |          |
|          |             |                           |              |          |
|          |             | 10502-5<br>Surface cement | MAY 29       | 2012     |
|          |             | 10 200                    |              |          |
|          |             | Surface cement            |              |          |
|          |             |                           |              |          |
|          |             |                           |              |          |
|          |             |                           |              |          |
|          |             |                           |              |          |
|          |             |                           |              |          |

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1943.85 25 lc

ONLY IF PAID ON OR BEFORE
Jun 12, 2012

| Subtotal               | 5,855.40   |
|------------------------|------------|
| Sales Tax              | 262.16     |
| Total Invoice Amount   | 6,117.56   |
| Payment/Credit Applied | \$4,653.71 |
| TOTAL                  | 6.147.56   |

## ALLIED CEMENTING CO., LLC. 034485 Federal Tax I.D.# 20-5975804

| REMIT TO P.O. BOX 31   | SERV                                 | /ICE POINT:                           |  |
|--|--------------------------------------|---------------------------------------|--|
| Russell, Kansas 67665  | Oakly KS                             |                                       |  |
| SEC, TWP. RANGE CA   | LLED OUT ON LOCATION                 | · · · · · · · · · · · · · · · · · · · |  |
| DATE 3/18/80A 24 13 31   | ON LOCATION 3130 pm                  | JOB START JOB FINISH                  |  |
| LEASE Zerr TrustWELL# 1-24 LOCATION ORKIEW   |                                      | ICOUNTY (STATE)                       |  |
| OLD OKNEW (Circle one)   | 115.2 Oion RO, 35                    | Couc KS                               |  |
| OLD ORNEW (Circle one) / / W,  | ·                                    | <b>]</b>                              |  |
| CONTRACTOR WWA   | OWNER Serve.                         |                                       |  |
| TYPE OF JOB SLUT FACE  | OMINER DEIVE                         |                                       |  |
| HOLE SIZE / & // T.D.  | CEMENT                               |                                       |  |
| CASING SIZE 8 5/8 DEPTH  | AMOUNT ORDERED 175                   | 1000 28 ca                            |  |
| TUBING SIZE DEPTH  | 2% gol                               | 00,71 372 66                          |  |
| DRILL PIPE DEPTH   |                                      |                                       |  |
| TOOL DEPTH   |                                      |                                       |  |
| PRES. MAX MINIMUM  | COMMON 1753                          | 1625 2843.75                          |  |
| MEAS, LINE SHOE JOINT  | POZMIX                               | @                                     |  |
| CEMENT LEFT IN CSG. 15FT   | GEL 35K5                             | @ 21.25 63.75                         |  |
| PERFS.   | CHLORIDE 65KS                        | @ 88,20 349 A                         |  |
| DISPLACEMENT   | ASC                                  | . @                                   |  |
| EQUIPMENT  |                                      | @                                     |  |
|  |                                      | _@                                    |  |
| PUMPTRUCK CEMENTER Lakere  |                                      | _@                                    |  |
| # 4/31 HELPER Dane   |                                      | _@                                    |  |
| BULK TRUCK   |                                      | _@                                    |  |
| # 347 DRIVER Aclam   |                                      |                                       |  |
| BULK TRUCK   | -                                    | _@                                    |  |
| # DRIVER   | 11AUDI ING (8A 2//                   | _@                                    |  |
|  | HANDLING 189,24<br>MILEAGE 8.64 X 24 | @ 210 397.40                          |  |
| REMARKS:   | MILENGE SPET VAL                     |                                       |  |
|  | j                                    | TOTAL <u>4141.4</u> 0                 |  |
| Mix 175 s &s covered   |                                      |                                       |  |
| Displace with Water<br>Cervery chel Circulate  | SERYI                                | CE .                                  |  |
| Cervered chief Circulate   |                                      |                                       |  |
|  | DEPTH OF JOB                         |                                       |  |
| 1/204.   | PUMP TRUCK CHARGE 11                 | 11,25,00                              |  |
| Arank Joan   | EXTRA FOOTAGE                        |                                       |  |
| - / Wen  | MILEAGE 24                           | @ 7.00 /48.00                         |  |
|  | MANIFOLD Swedge                      | @ <u></u>                             |  |
| ·  | TA Willedir - Wards 34               |                                       |  |
| CHARGE TO: Shakespeare Oil. Co In  |                                      | _@                                    |  |
| CHARGE TO, OTTERCS RETE COT, CO IN   | ۷.                                   | 4-14                                  |  |
| STREET   |                                      | TOTAL <u>1714.</u> ∝                  |  |
| CITYSTATEZIP   |                                      |                                       |  |
| Jill Zit   | PLUG & FLOA                          | T EOUIPMEÑT                           |  |
|  |                                      |                                       |  |
|  |                                      | · ·                                   |  |
|  |                                      |                                       |  |
| To Allied Cementing Co., LLC,  |                                      | _@                                    |  |
| You are hereby requested to rent cementing equipment   |                                      | @                                     |  |
| and furnish cementer and helper(s) to assist owner or  |                                      |                                       |  |
| contractor to do work as is listed. The above work was   |                                      |                                       |  |
| done to satisfaction and supervision of owner agent or   |                                      | TOTAL                                 |  |
| contractor. I have read and understand the "GENERAL,   |                                      | TOTAL                                 |  |
| TERMS AND CONDITIONS" listed on the reverse side,  | SALES TAX (If Any)                   |                                       |  |
| The companions asked on the teverse side,  | ·                                    |                                       |  |
| h mara / h   | TOTAL CHARGES                        |                                       |  |
| PRINTED NAME LANG  | DISCOUNT                             | IE BAID IN 20 DAVO                    |  |
| 1 1 2  | DISCOURT                             | IF PAID IN 30 DAYS                    |  |
| SIGNATURE OLULO  | -                                    |                                       |  |
| The state of the s | :                                    |                                       |  |



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

#### Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881

### INVOICE

Invoice Number: 131272

Invoice Date: May 25, 2012

Page:

1



| Customer ID<br>Shak | Well Name/# or Customer P.O.  Zerr Trust #1-24 | Payment Terms Net 30 Days |         |
|---------------------|--|---------------------------|---------|
|                     |  |                           |         |
| KS1-03              | Oakley   | May 25, 2012              | 6/24/12 |

| Quantity | Item        | Description            | Unit Price | Amount   |
|----------|-------------|------------------------|------------|----------|
| 132.00   | MAT         | Class A Common         | 16.25      | 2,145.00 |
| 88.00    | MAT         | Pozmix                 | 8.50       | 748.00   |
| 8.00     | MAT         | Gel                    | 21.25      | 170.00   |
| 55.00    | MAT         | Flo Seal               | 2.70       | 148.50   |
| 236.27   | SER         | Handling               | 2.10       | 496.17   |
| 24.00    | SER         | Ton Miles              | 23.22      | 557.23   |
| 1.00     | SER         | Plugged to Abandon     | 1,250.00   | 1,250.00 |
| 24.00    | SER         | Heavy Vehicle Mileage  | 7.00       | 168.00   |
| 24.00    | SER         | Light Vehicle Mileage  | 4.00       | 96.00    |
| 1.00     | EQP         | 7 7/8 Top Wooden Plug  | 92.00      | 92.00    |
| 1.00     | EQUIP OPER  | Darren Racette         |            |          |
| 1.00     | EQUIP OPER  | Tyler Flipse           | חחח        |          |
| 1.00     | OPER ASSIST | Chris Wilkinson        | MITH       |          |
|          |             | Plus<br>10502-5 JUN 04 | 2012       |          |
|          |             | 10502-5                | 050        |          |
| -        |             |                        |            |          |
|          |             |                        |            |          |
|          |             |                        |            |          |
|          |             | 0.14.4.1               |            |          |

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

ONLY IF PAID ON OR BEFORE Jun 19, 2012

| Subtotal               | 5,870.90 |
|------------------------|----------|
| Sales Tax              | 472.61   |
| Total Invoice Amount   | 6,343.51 |
| Payment/Credit Applied |          |
| TOTAL                  | 6,343.51 |



# ALLIED OIL & GAS SERVICES, LLC 056204

| REMIT TO P.O. BOX 31<br>RUSSELL, KANSAS 67665          |                                    | SERVICE POINT;                     |
|--|------------------------------------|------------------------------------|
|  |                                    | Cheley                             |
| DATE 5-25-12 SEC. TWP. RANGE 31                        | CALLED OUT ON LOC                  | ATION JOB STARTAM JOB FINISH MO AM |
|  | h. 110 d a d d d                   | COUNTY STATE                       |
| Of D Options   | ley 115 ETO Orio                   | n Rd Giove Ks                      |
| 153.76.73  | into                               |                                    |
| CONTRACTOR WW-2  | OWNER Same                         | <del></del>                        |
| TYPE OF JOB PTA  | OWNER Same                         | )<br>ve                            |
| HOLE SIZE 7 1/8 T.D.                                   | CEMENT                             |                                    |
| CASING SIZE DEPTH                                      | AMOUNT ORDERED                     | 220 SKS 6/40 4% Ge                 |
| TUBING SIZE DEPTH DRILL PIPE 4/2 DEPTH                 | 1/4 Floseal                        | 220 SKS 940 4% Ge                  |
| FOOL   |                                    |                                    |
| PDEC MAY   |                                    |                                    |
| MEACLINE   | COMMON                             | 5KS @ \$16 A \$ 12145 05           |
| CEMENT LEFT IN CSG.                                    | POZMIX                             | SKS @ 8 50 #748.00                 |
| PERFS.   | GEL 8                              | SKS @ 21.25 # 170 08               |
| DISPLACEMENT 29,30                                     | CHLORIDE                           | @                                  |
|  | ASC                                | @                                  |
| EQUIPMENT  | Flo Seal 55#                       | # 2.70 # 148.50.                   |
|  |                                    | @                                  |
| PUMPTRUCK CEMENTER Darren R.                           |                                    |                                    |
| 1422 HELPER Tyler                                      |                                    | @                                  |
| BULK TRUCK   |                                    | @                                  |
| 347 DRIVER Chri's BULKTRUCK                            |                                    |                                    |
| •  |                                    |                                    |
| DRIVER   | HANDLING 236,27                    | 413 @                              |
|  | MITAGE 9 80 V                      | 24 x 42, 32 1 557.23               |
| REMARKS:   | MILENOE Z708 X                     |                                    |
| mia 25 sks Cement 2311 ft '                            |                                    | TOTAL 4264.40                      |
| mix100 sks Cement 1409 Ft                              |                                    |                                    |
| Mix 40. sks Cement 302 Ft                              | S                                  | ERVICE                             |
| MIX 10 5Ks Cement 40 ft                                | DEPOLIT OF 10                      |                                    |
| Buy MH 155Ks   | DEPTH OF JOB                       |                                    |
| Mis RH 305K5   | PUMP TRUCK CHARGE<br>EXTRA FOOTAGE |                                    |
|  | MILEAGE 24                         | @#7, <u>00</u> #168 02             |
| mank lau   | MANIFOLD                           |                                    |
| <i>-</i>   | Lu m/leage.                        | @ #4.22 196.00                     |
| 21 I   |                                    | <u> </u>                           |
| CHARGETO: Shakespeare Oil Co.                          |                                    |                                    |
| TREET  |                                    | TOTAL \$ 1514.00                   |
|  |                                    | 101AL 1574.~                       |
| CITYSTATEZIP   |                                    |                                    |
|  | PLUG & FI                          | LOAT EQUIPMENT                     |
|  |                                    | •                                  |
|  | 1 Top Wooden Pl                    | ug @ \$192 00                      |
|  |                                    |                                    |
| l'o: Allied Oil & Gas Services, LLC.                   |                                    | @                                  |
| You are hereby requested to rent cementing equipment   |                                    | @                                  |
| and furnish cementer and helper(s) to assist owner or  |                                    |                                    |
| contractor to do work as is listed. The above work was |                                    |                                    |
| ione to satisfaction and supervision of owner agent or |                                    | TOTAL 192 . 20                     |
| Contractor. I have read and understand the "GENER AT   |                                    | IVIAL                              |
| TERMS AND CONPITIONS" listed on the reverse side.      | SALES TAX (If Any)                 |                                    |
| 1 1  |                                    |                                    |
| PINITED MANAL COADE LAMON                              | TOTAL CHARGES                      |                                    |
| MINIED NAME INVITED HAIRLY                             | DISCOUNT                           | IF PAID IN 30 DAYS                 |
| RINTED NAME LOAN'E HANG                                |                                    | " TIME IN SU DATA                  |
| IGNATURE MYME IN CO                                    |                                    |                                    |
|  |                                    |                                    |